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IMPORTANT NOTES
Tgeaqut a3

TR T 8 v B 0§ O 39 BT 31,0, 3T, T F el TR WA |

Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.

Tt e / fedt Frair 3 womr—ma i Breem, =1 af) et o ol s siisft ff s o s wspa 21
Except Hindi Grammar/Hindi Essay question paper, all other question papers can be written either in Hindi or
English language.

svafifi =t 3o 3w Fruff vedl ) i @ sifiren 761 g anfev) soem Sociom 03 90 37 12 0T | sl 3 4
ATl % s @ ford | @reft v woggan A fad|

The candidates should not write the answer beyond the prescribed limit of word; failing which, marks will be deducted.
Candidates should write the answers within the given lines. Please do not write in the blank spaca.

e 5 o1 3 AT gfee 8 Rt v w g | swere gftee (16 #0E F g afed) F stz e wmw s,
SO ATH, = IS A, 91 A1 31 S Te=H (o8 3ifFa 7 1 | Io0 qfeaert % w19 3321 F18 F) Gops w0 off 9fid 21 39
fdart =1 Seetem 03 W SaEe 1 i Aifew 2 fan sueh) anfaard e i sas)

Please write answers only in the prescribed space of booklet. Do not make any mark of identity inside the booklet
(including rough paper page) like roll number, name, any other name, address or such other mark. Do not enclose
anything with the answer booklet. The candidature of candidates violating these instructions would be cancelled
without even giving them any other notices.

sreafef =1 frafima o < 2 fo ot qfeeer 8 weires gws 3w 1rd ardt o @ arewereR e ford | At e ame
fora mar 3w =t witeren gro s ¢ smom)

Candidates are directed that they should not write (answer) outside the border fine in every page. Answer written
outside the border line will not be checked by the Examiner.

afe forel o 9 et wabme =1 = s aveenren webTe o1 e €1 ) weA sk e e St et @ et w e = A
If there is any sort of ambiguity/mistake either of printingr of factual nature then out of Hindi and English version
of the question, the Hindi version will be treated as standard.

Fvefi 1w gfea Hiess wH T R

The Question-Answer Booklet is provided in asealed to the candidate.

Srvaefi weIT Y % FR e 39 .00 . Y s Fifea e et /e are i @ aaueEgEs w9t s o e
A% 1. 0. AR TF FEl 8 He -6 781 Aga o oft www @ arfama adia)

Candidate should fill up all desired details on this attached OMR Sheet of Question-Answer Booklet with
Blue/Black ball point pen. Please ensure that this OMR Sheet is not torn or damaged.

TE 1. UH. AR, T3 31 9T 8 sien 2, Fore whfeoa g gy fia & | S gfd sveaefi i 2

This OMR Sheet consists of two parts in which some information is pre-printed; remaining details have to be filled
by the candidates.

AR e e e -l 41 31fEa 2, At dehiel A1er % w8 o 3 o 39 SEeET o, S 3G A s
& |

If the Question-Answer Booklet is torn or not printed properly, immediately bring it to notice of invigilator and get
changed the Question-Answer Booklet, otherwise the candidate will be liable for that.

Forvra At : sreeff v afa St ww. 3R, Tk et g Wl Sl 2 o 3@ Faedt v ot wdad st 2 i s gm gl when
& srafilan frea i s e siaes fo snaoff e severf Em)

Special Note : If there is any wrong information filled by the candidate then his candidature for the entire examination
shall be rejected by the commission, for which he himself will be liable.
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SPECIAL INSTRUCTION
favre g
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The question paper is divided into two Sections as ‘A' and 'B'. There are three questions as very short type, short type
and long type questions in each Section, in which there are sub-questions in each question. There is internal choice in
long type questions. The maximum marks are printed in front of each question.
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W ;1. 38 YE A 15 sfrermia 30-wE §, wee 3 # I sifishan 15 F 20 ved 7 3 @ | At wea srfard # | uelen ue 03 (FF) sEa |

Que. : 1. This question contains 15 very short type sub-questions. Answer each question in maximum 15 to 20 words. All questions are

SECTION-B/@UE - &

compulsory. Each question carries 03 (three) marks.

(15%3=45)

T (1.1)

3l :

IR o o8 T § 2011 31 SV o STTHR HI&RdT € 9l 4 ¢ 7
In which State of India has the lowest literacy rate according to 2011 census ?

T : (1.2)

GDR. U FT AMNII R 7
What do you mean by G.D.R. ?

T (1.3)

‘A g9dH ged’ ¥ S FT 99Ed & 7

What do you mean by ‘Minimum Support Price’ ?

H: (1.4)

9T <t T 31 1 sreferaken & fha e 1 e ad it 2 7

Which sector of economy contributes the highest share in National Income of India ?

94 (1.5)

A | AT HIT TEIAA & 7

What do you mean by devaluation ?

qM=03

qM=03
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SECTION - B/ ®UE - @ [w]

a1, AHAA15 - ¥, Wede WA 1 IR 3TfeeRan 15 A 20 veal 8§ 21 @ | et v srfrard € | el W 03 (FiF) s |
Que. : 1. This question contains 15 very short type sub-questions. Answer each question in maximum 15 to 20 words. All questions are
compulsory. Each question carries 03 (three) marks.

(15x3=45)

T : (1.6)

31

o (TRIPS) FT 2 7
What is TRIPS ?

T : (1.7)

T 3714 =1 A9 =l foher1 faferai @ 7

How many measuring methods of National Income are there ?

I¥: (1.8)

Hehcl Hie] 3cU18 U ST 1 37194 ¢ 7
What do you mean by Gross Domestic Product ?

T%: (1.9)

WTe 3 3fvgan Ry F= e ?

What is the Start Up India Programme ?

T : (1.10)

Yo SIS 8 7

What is Disguised Unemployment ?

q/M=03

q/M=03

q/M=03

qM=03

I /M=03




SECTION-B/@Us - 9
T 1. @IEH15 Ww—mﬁ,mmmmaﬁqﬁmsﬁmmﬁﬁh% | meft wo srframd # | ueies w03 () s R (15x3=45)

Que. : 1. This question contains 15 very short type sub-questions. Answer each question in maximum 15 to 20 words. All questions are
compulsory. Each question carries 03 (three) marks.

M-2019/GS-lIl - B/07 E

T (1.11) GUEd HUSR (S WiF) RS 7 7 M=03
What is Buffer Stock ?
3 :
T
TH: (1.12)  “OSfi-3eaf sama’ @ TRt 9 S R 7 M-09
What do you mean by ‘Capital-Output Ratio’ ?
I :
T
TH: (1.13) Grue T = e ? 9 Me03
What is the relative poverty ?
Il
WTATH
TH: (1.14) SRAT ISR 7 A0
What is UDITA Yojana ?
Il
T
TH: (1.15) WA H AYHe RIS AT arietis el W @ e ? il
Where is National Institute of Virology is located in India ?
3l
e
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SECTION -B/@UE - &

w2, Trefetias § @ feed 10 w1 % 3o stfipam 100 vreai 1 fofiaw) wedrss w6 (B:) it 7 2

Que.:2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.

TH: (2.1)  HATCHMHT IRA AR % T T o a1 § Jaigg |

Explain the important pillars of ‘Atmanirbhar Bharat Abhiyan’.

(10x6=60)

qM=06




M-2019/GS-1ll - B/09 L
SECTION - B/ @UE - @ [=]
v : 2. Fafafias § @ R 10 vt 3 3w atfiram 100 vr=2i 4 fofian) weres w97 6 (B:) s w1 2) (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.
YH: (2.2) WA Yo o fafmio & & faerma @ snumsgd & it % Fron & oo Hifsw | 06

State the reasons for the lack of infrastructure for the growth of manufacturing sector in Madhya Pradesh.
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SECTION - B/ @UE - & O

v - 2. Frefafiaa #§ 4 i 10 w1 % 3o wifteram 100 w2t & foifig | oo w1 6 (B:) = F 2 (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.
U (2.3) vt & wHd srdferawen § wramvid § 3fE g8 @ || 39 gag § o1 faen fafaw ) IM=06

‘Globalization leads to sustainability in the Indian Economy.’ State your views in this regard.

-10-
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W : 2, Fefafea 4 3 TR 10 vl % 3w sifusam 100 s6i & fofae) o ww 6 (:) sl =1 21

Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.

SECTION -B/@UE - &

(10x6=60)

TH: (2.4) TR 3 @A H1 Heed JqT3C |

Explain the importance of National Income Accounting.

qM=06

At
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SECTION - B/ @UE - & [=]"

v« 2. Trafefaa & fredt 10 wot 3% 3¢ sfisan 100 weai 8 feifign) weies w97 6 (B:) &1 1 21 (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.
T (2.5) WA § T o W19 &g dgere atitd ol wiat trrsE afbfa @ e E 7 M0

How is the methodology followed by the Rangarajan Committee different from that of the Tendulkar
Committee in measuring poverty in India ?

q2-
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M-2019/GS-lll - B/13
SECTION - B/ @UE — & [w]
v : 2. famferfias 4 & feaedt 10 gwil & 3o srfirram 100 vt & foaflgu) oo w1 6 (1) it &1 2 (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.
T (2.6) HaT & gfdeRiv’ SR oA S gU ITHIT S0 UX S W TS | TR

Examine the ‘Service Area Approach’ in terms of rural credit.




M-2019/GS-lll - B/14
SECTION - B/ @S - ¥

wy : 2. Frfeiaa # @ fenedi 10 w1 % I 1fteran 100 vsai # fafan| uedes v 6 (B:) simt &1 2 (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.
Y (2.7) A H HfEe TERe g9 ®&i AE 7 7 Yedied i | M-06

Why is Monetary Transmission not effective in India ? Examine.

-14-
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SECTION - B/ @UE - @ [=]

v : 2. Fafafas @ @ et 10 vt % 3w sifian 100 weei & fifiaw | wetes w7 6 (:) s =1 2 (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.
T (2.8) Towm i & et fasm, fafmior va fafa 2q v s9m gar @ | faam Sifs | IM=06

‘Special Economic Zones’ are an engine of industrial development, manufacturing and exports.” Explain.

-15-
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SECTION - B/ @UE - &

7o ;2. Taferfiaa # & feedi 10 wwl % 3o sttty 100 w=si 3 fafEw) s w97 6 (B:) 37 =1 2

Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.

-

[=]

(10x6=60)

T: (2.9) WA WS % iy fokr 6 senfht it siftrew i smen Fifs |

Explain the role of Horticulture in agricultural development of Madhya Pradesh.

qM=06

-16-
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SECTION-B/@UE - &

;2. Frafafas 3 & fodi 10 ot % swn siftrram 100 wsei # forfa) waims 79 6 (B:) o7 = 21 (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.
T¥: (2.10) F9 2020-21 % YW a1 faaTél § YA o Tehel T 3cd1E 1 gt o e il | e ]

Explain the trends of GDP of India in first two quarters of the year 2020-21.

17
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M-2019/GS-lll - B/18 SECTION-B/@UE -

Okpxi0)

W : 2. Treafefiaa # & fadi 10 wwi % 3w siferran 100 ysei 7 fofiav) weies w97 6 (B:) o= #7121 (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.
T (2.11) WET WSS % HY &F § G FHE! ht AT HI | s

State the major weaknesses of Madhya Pradesh in Agricultural Sector. 1

l
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;2. Treferiga o @ gt 10 wei % 3w stfmras 100 weel § fofaw) welres wed 6 (B:) #ihi &1 2|

(10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.
TH: (2.12) Y Tl % w9 A afode | o5 1 §9 g ® || auasd | M-08
‘Subsidy in the form of free electricity has led to depletion of ground water.” Explain it.
I : -
T

T W
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M-2019/GS-lIl - B/20 %
SECTION - B/ @UE - [w]

TH ;3. 36 W H 03 39-T £, Welieh Uv 1 I tfiran 300 wedi 1§ & 21wt v arframd ¥ welen v 1 svaten fasen oft 21 s
for aTiafeer faseT 1 30 2 @ & 366 T7%2 Joord It o HHE FHETE: | Ul U 15 (T o @ 2 (3x15=45)
Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.

TH: (3.1) R Afouaen § grasie & i $ehreai ot e va feafa 1 e hife | Mt

Evaluate the role and performance of Public Sector Enterprises in the Indian economy. j

HFASFT/OR
T @ e At 2013 #i fad=mn fifs |

Explain the National Food Security Act, 2013. Rl

won - RS

-20-
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M-2019/GS-lll - B/21 SECTION — B @0 = % E
T : 3. TANEH 03 37-TH &, Weleh W o I Aferhad 300 sl § 21 21 At wr srfiad | weliens v o safi faseq oft 21 spegeff
o sttt fases =1 3 2 @ ¥ 3uw v Ieoi@ I % Aue AEEa: F ues 7H 15 (T28) 53 F2) (3x15=45)
Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.
¥ : (3.1) continued (ST{)

-21-
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SECTION - B/ @1 - @ [w]
99 : 3. T IH H 03 39-I F, Weliwh YY1 I Ay 300 vreat # 31 21 weft vy arframd # ) wedien e # st faeen oft 21 sveredi
Tor arrafter famey 1 30 2 @ & 30 TI% Ieei IW %GNG AarE: Fil Ueldw T 15 (TE) 3 5 R (3x15=45)
Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.

% : (3.1) continued ()

-22.
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SECTION-B/@UE - 9

T : 3. 3H W H 03 I9-uw ¥, welken WA 1 I AfEan 300 veRi § 21 21 welft e srframd ¥ weien v o st foened oft 21 sngeff
form sttt famre =1 3w 2 @ ¥ 30 TR Joord I F THY AFEEA: | U 9 15 (TEE) 9 2

(3x15=45)

Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.

Each question carries 15 (fifteen) marks.

Iw: (3.2) WRd H arefiur 3R e SO S Yehfd Ud FReT # Ioor@ HiT |
Explain the nature and causes of rural and urban unemployment in India.
HAYGT/OR
wa § gedt it % gard i Juafeuai 3 faseraist =1 fageiyor Hifs |

Analyse the achievement and failures of second generation reforms in India.

I M=15

23
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99 : 3. TA WA H 03 I9-TH §, TS WA I AfEad 300 vedi § 4 2| At weA v 81 ueden e 1 otain e of 21 s |
orm et famrey =1 39 2 T8 € 309 T Ieord IO o g AAfarE: F| Te T 15 (TEE) 3 w5 8 (3x15=45) |
Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each guestion carries 15 (fifteen) marks.

¥ : (3.2) continued (ST)

SECTION-B/@Us - 9
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SECTION -B/@UE - &

W : 3. 59 T H 03 I9-U &, Welieh Uv 3 3 Aferskan 300 vt § 3 21 At we arfamd 1 welres v aviafie e oft ) sveed
R At e 1 3902 T8 § 36 ET Sk I % aNE e F| Ul T 15 (TZE) 3F F 8 (3x15=45)
Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.

W : (3.2) continued (SRT)

M-2019/GS-lll - B/25 En"‘

-25-



M-2019/GS-lIl - B/26 SECTION - B/ @UE — q

W : 3. 38 W H 03 I9-TA ¥, Weeh W w1 I sAfeean 300 vedi # & B welt weR srfravd &1 welres v | it fosen o @1 areeff
Forg ariafer fames 1 30 2 @ € 309 W= Seoi@ I & GHe AAfEra: F) e 9 15 (I2E) 3T # 8) (3x15=45)
Que. : 3. There are 03 sub-questions in this gquestion, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.

TW: (3.3) WA QLT g Heh 37 3M0ea1 FRIHT & qed el [ehrd o WradmHi i faaem &+ | It
Explain the provisions of skill development under Make in India Programme taken by Government of India.

HUAT/OR
TR TR 3T < STETT S S H e g ST 3 v SueT 8 el € 7 319 Ha TR |

How Universal Basic Income may be a tool of reducing income inequality and poverty ? Give your opinion.

-26- ‘



SECTION-B/@Us - 9
U : 3. A TE H 03 39-5% F, Teleh W i Ia Afreran 300 yisat # 21 @) |t wya arfand €1 weden v i stiafte e of 21 s
Torm ariafi fame 13m0 2 @ & 30 T Jooi I % WHE Aardd: | Uede 999 15 (I=8) S w8 (3x15=45)
Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.
WA : (3.3) continued (ST)

M-2019/GS-lll - B/27 E
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SECTION-B/@UsS - &
U : 3. 3E UM 03 I9-9 2, ek U9 F1 I Jfiehan 300 weai # 37 2| Wt v rfard | vl v 1 sviafie ey oft @) st 1

Torm sriafer fames =1 390 2 @ € 30@ T Ieoia 3w % Ny HiAada: | TeE T 15 (T=5E) 6 2 (3x15=45)
Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.
% : (3.3) continued (SH)

-28-
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T &Td g T4
SPACE FOR ROUGH WORK
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